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535 3014.53 353.25 5840.57 730.07
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. SM= 18466.30 1477.30 36932.60 2954.61
535 15981.25 1278.50 31962.50 2557.00
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Pm / Pm
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o
o

SLTeé | SLT8 | SLT10 | SLT13 | SLT16 | SLT20 @ SLT25 | SLT30 | SLT40 SLT50

HE 17§ | 0557 0577 0418 0360 @ 0.229 @ 0.201  0.154  0.126  0.110  0.109

x?; 0.065 | 0.059 | 0.047 @ 0.043 | 0.033  0.029 0.023 0.021 0.016 @ 0.013
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(1) 2| X|X| 80 tiot HERAS| E=&X| (XL (unit : pm)
§7=|
Z0| 2
6, 8 10 13, 16 25, 30 45, 50

x| ojgk N H PN H P N H P N H|P N H P
- 200 72 46 26 59 36 20 56 34 18 53 32 18 53 32 16
200 315 133 89 57 83 54 32 71 45 25 58 39 21 58 36 19
315 | 400 185 126 82 103 68 41 83 53 31 70 44 25 63 39 21
400 | 500 236 163 108 123 82 51 95 62 38 78 50 29 68 43 24

500 630 - - - 151 102 65 112 - = 88 57 34 74 47 27
630 800 - . - 190 130 85 - - - 103 68 42 84 54 32
(B2) 0| XIXI2 SH0| Ch3t X|X|% Beio| Hzte (HThZh (wnit - )

o ¥UE 53

N H P

6, 8,10 22 9 6

13,16 ,20 27 11 8

25, 30 33 13 9

40, 50 39 16 11
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8.1.1) &eE X HEK|¢+
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SLF

T
glﬁj‘ 2-9Q
o 8 *é 3
ji
]
T L2
L
(unit : mm)
(3:;;0; o D L L1 #D1 = PCD ¢X oY 7A - L2 SR
2eE n
6 SLF6 14 25 6 30 22 34 6.5 4.5 1 7.5 2
8 SLF8 16 27 8 32 24 34 6.5 4.5 5 7.5 2
10 | SLF10 21 33 9 42 32 4.5 8 4 15 | 105 2
13 SLF13 24 36 9 44 33 4.5 8 4.5 115 11 2
16 | SLF16 31 50 10 51 40 4.5 8 6 2 18 2
20 | SLF20 35 56 10 58 45 5.5 085 54 2 18 2
25 | SLF25 42 71 13 65 52 5.5 9.5 8 3 26.5 4
30 @ SLF30 47 80 13 75 60 6.6 11 8 3 30 4
40 | SLF40 64 100 18 100 82 9 14 12 4 36 4
50 | SLF50 80 125 20 124 102 11 17.5 12 4 46.5 4
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(unit : mm)
b4 7| 28E5ts | VI28EER YN ERT A
&by od1 (ih,{) (kgf) (kgf.m) E (kgfm) | (kg)/ (kg/m)
5=
53 3% C | C G | Gr  MA1 MA2 | Ye EZ%|33%
SLF6 | 6 _0315 525 2 137 | 225 046 076 039 348 004 022 018
SLF8 | 8 _0815 727 3 137 225 06 099 039 38 005 04 033
SLF10 10 _0818 897 = 4 | 285 397 | 162 225 095 853 01 06 051
SLF13 13 _0315 1182 7 396 540 289 394 15 1246 012 103 088
SLF16 16 _0818 1472 8 | 545 849 | 477 743 371 2609 023 156 125
SLF20 | 20 _0%21 1863 10 724 1109 79 1209 553 38 03 244 182
SLF25 | 25 _0%21 2343 15 1003 1593 2199 @ 4301 1035 6859 046 3.8 292
SLF30 | 30 _0325 2853 16 1160 1980 30.26 6293 1568 9327 063 55 3.93
SLF40 | 40 _0325 373 20 2972 4033 10537 176.05 3659 24634 14 97 675
SLF50 | 50 _0830 4705 26 4086 5615 179.89 30435 51.58 42872 28 152 114
MA1 : StLES| HE S Ar8ol= 42 SYee 518 ZHES LiEtH LT
MA2 : £7H2| HEE Ar85t= 42 Yo 518 ZHES LIEtHLCH
MAT MA2
s L s L
M Bz =m ]
—] 1 ] ]
| I 1 | I I
B 55 =8
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SLT
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o/ ik
L 2-9Q
L

(unit : mm)
58 gy - ] g K K1 K2 2Q = 8T
(#) H8 +0.05/0 Y= n
6 SLTe 14 25 12.5 2.5 1.2 10.5 1 2
8 SLT8 16 27 13.5 2.5 1.2 10.5 1.5 2
10 SLT10 21 33 16.5 3 1.5 13 1.5 2
13 SLT13 24 36 18 3 15 15 1.5 2
16 SLT16 31 50 25 3.5 2 17.5 2 2
20 SLT20 35 56 28 4 2.5 29 2 2
25 SLT25 42 71 355 4 2.5 36 3 4
30 SLT30 47 80 40 4 2.5 42 3 4
40 SLT40 64 100 50 6 3.5 52 4 4
50 SLT50 80 125 62.5 8 4 58 4 4
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(unit : mm)
b4 71284%ts 7284 Ea YN ELEH 2A
=l od1 ,ﬂl) (kgf) (kgf.m) E (kgfm) | (kg)/ (kg/m)
53 3% C | C G | Gr  MA1 MA2 | Ye EZ%|33%
SLT6 | 6 _0315 525 2 137 225 046 076 039 348 002 022 0.8
SLT8 | 8 _0815 727 3 | 137 | 225 06 099 039 38 002 04 033
SLT10 | 10 _0818 897 4 285 397 162 225 095 853 004 06 0.51
SLT13 | 13 _0g15 1182 7 396 540 289 394 15 1246 005 103 088
SLT16 | 16 _0818 1472 8 | 545 849 477 743 371 2609 013 156 125
SLT20 | 20 _0%21 1863 10 724 1109 79 | 1209 553 38 019 244 182
SLT25 25 _0%21 2343 15 1003 | 1593 2199 | 4301 1035 6859 03 38 292
SLT30 | 30 _0825 2853 16 1160 1980 3026 6293 1568 9327 04 55 393
SLT40 = 40 _0325 373 | 20 2972 4033 10537 176.05 3659 24634 085 97 675
SLT50 | 50 _0830 4705 26 | 4086 5615 179.89 30435 51.58 42872 18 152 114
MAT: StLC| HEE At8%t= 8% 82 518 RHEE LIEFHLICE
MA2 : F712| HEE Ar8%t= 8% 82 518 RHEE LIEF-HLICE
MAT MA2
s w - w
| I T I L] 1
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